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SCoPE Science Assessment Packet

Unit 1, Grade 6 Ecosystems

Assessment Packet

  Grade 6, Unit 1:  Ecosystems 

Overview

This packet contains a set of assessment resources to be used with the Ecosystems Unit of the 6th grade Scope Science Curriculum. A test blue print is included for the summative unit test. The blueprint describes the content to be assessed with selected response, constructed response, and performance assessments.  In addition, the packet includes suggestions and examples for formative assessment. .

Components

I.    Assessment Plan for Grade 6
A one-page summary of the various assessment components for this unit, including summative, formative and self-assessment recommendations. 

II.    Test Blueprint

The Text Blue print lays out the assessment design for the summative unit test. It shows how item types are distributed across the core concepts of the unit and categorizes them into the four levels of the Depth of Knowledge (DOK) (see narrative). Item format for this test is either multiple choice (selected response) or essay (constructed response.)

III. Summative Exam
Part of summative assessment for unit.  Test includes multiple choice and constructed response items.  If items on this sample assessment are not included on the test administered to students, then comparable items addressing the same key concept and level of thinking (see Blueprint) should be substituted

IV. Performance Assessment Task
This is part of the end of unit summative assessment.   Assessment includes the following:

· Student directions for task

· Teacher information for task implementation

V.     Assessment Checkbric

Criteria and standards for a quality Performance Assessment

	Test Blueprint for Grade 6 Ecosystems Unit Summative Test



	Domain (Concept)
	DOK1 (Recall)

Knowledge
	DOK2 (Skill/Concepts)

Comprehension
	DOK 3 (Strategic Thinking)

Application/Above
	Total Items/ Points
	Percent

of Test

	Energy Exchange

L.OL.06.51; 52
	4 multiple choice
	2 multiple choice 

1 essay (2 points
	
	7 items/ 8 points
	23%

	Populations and Communities

L.EC.06.11; 23; 32
	3 multiple choice
	3 multiple choice
	
	6 items/ 6 points
	17%

	Patterns in Relationships

L.EC.06.21; 22
	2 multiple choice
	4 multiple choice
	
	6 items/ 6 points
	17%

	Ecological Balance

L.EC.06.31; 41; 42
	4 multiple choice
	2 multiple choice
	
	6 items/ 6 points
	17%

	Investigating Ecosystems
S.IP.06.14; S.IA.06.11;15; S.RS.06.29
	
	3 multiple choice
	1 multiple choice

2 essay (5 points)
	6 items/ 9 points
	26%

	Total
	37%
	46%
	17%
	31 items/ 35 points
	100%


Note:  The purpose of a Test Blueprint is to guide the design and development of the assessment tool.  The goal is to build an assessment that targets all of the key concepts and not just a small segment of the assessable content.  In addition, the purpose here is to assure that the thinking required to respond to items on the test is balanced and goes beyond simple factual recall.

Multiple Choice
Identify the choice that best completes the statement or answers the question.
The picture below shows one possible food web for a Great Lakes ecosystem. Based on your understanding of ecosystem interactions, answer the following questions.
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1.
How is the relationship between the small fish and the invertebrates in the diagram above best described?

	a.
	Predator-prey

	b.
	Producer-predator

	c.
	Consumer-parasite

	d.
	Decomposer-consumer


____
2.
Which of the organisms in the web above gets its food energy by decomposing organic material?

	a.
	Small fish

	b.
	Vegetation

	c.
	Invertebrates

	d.
	Bacteria and fungi


____
3.
An increase in salmon and trout fishing by humans will result in which of the following?

	a.
	Greater plant productivity.

	b.
	A reduced food supply for eagles.

	c.
	Reduced tourism on the Great Lakes

	d.
	An increase in the life expectancy of ducks.


____
4.
Which of the following is an example of how plankton are beneficial to humans?


	a.
	Plankton are a food source for humans

	b.
	Plankton clear out dead animals

	c.
	Plankton provide food for fish which humans can eat

	d.
	Plankton are parasites that take out unwanted bacteria


____
5.
Which item in the diagram above is a biotic part of this ecosystem?

	a.
	Light

	b.
	Snail

	c.
	Sand

	d.
	Water


Use the following information for the following question(s)

The great horned owl is a large, powerful bird.  They are night hunters and they eat rodents, squirrels, rabbits, skunks, raccoons, ducks, chickens (and other birds), snakes, toads, fish and occasionally road-killed animals.  They have even been known to eat cats and small dogs.
____
6.
Suppose all of the raccoons disappeared from the great horned owls food web.  What effect would this most likely have on the great horned owl?

	a.
	It would become extinct 

	b.
	There would be little effect on its population. 

	c.
	Its population would move to a new habitat.

	d.
	Its population would decrease and then reach a natural balance. 


____
7.
The increasing human population has caused which of the following?

	a.
	Climate change 



	b.
	Decreased pollution 



	c.
	Fewer species becoming extinct



	d.
	More abundant natural resources




____
8.
Rabbits introduced into Australia over 100 years ago have few effective predators.   Which of the following describes the possible impact of this new species on the environment?

	a.
	Native plant eaters were displaced

	b.
	Plant species became more diverse

	c.
	The food chain became more balanced

	d.
	Completing animal populations increased


____
9.
What would happen to garbage put into a compost pile if all of the decomposers were destroyed?

	a.
	It would rot.

	b.
	It would turn to soil.

	c.
	It would start to grow.

	d.
	It would stay the same.


The Percula clownfish can often be seen hiding in the tentacles of the poisonous Carpet anemone.  The clownfish are covered with a slime layer that protects them from the poisonous tentacles of the Carpet anemone.  These tentacles keep the clownfish safe from predators.  Bits of food from the clownfish’s meals provide the Carpet anemone with food.
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10.
What best describes the relationship between the clownfish and anemone in the diagram above?

	a.
	Parasitic

	b.
	Competitive

	c.
	Predator-prey

	d.
	Mutually beneficial


____
11.
Which of the following would cause the cattail population in a wetland to change?

	a.
	A summer rainstorm



	b.
	Humans kayaking and canoeing



	c.
	The migration of ducks as the seasons change



	d.
	The introduction of a competitive invasive species


____
12.
Based on how it gets its food energy, how is the great horned owl classified?

	a.
	Prey

	b.
	Producer

	c.
	Consumer 

	d.
	Decomposer


The graph below represents how two populations, A and B, change over time. 
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____
13.
Based on the graph above, what can be concluded about the two species?

	a.
	Species B has a greater population than species A.

	b.
	Species A and species B have no effect on each other.

	c.
	As the population of species A increases, species B decreases.

	d.
	Species A and species B are affected the same way by the ecosystem.


____
14.
"A group of students decided to study the different kinds of birds observed near their school.  They counted the number of species present and the number of birds in each species.  Which of the graph axes below would be the best for reporting their results?"
	a.
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	b.
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	d.
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The graph below represents the changing mouse population in a given ecosystem.
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____
15.
Suppose that in a certain area, mice are the main food supply for wolves.  Based on the graph above, in which year would there be the least amount of competition among wolves for food?

	a.
	1975

	b.
	1980

	c.
	1985

	d.
	1990


A sea lamprey attaches to a living fish, drills through the scales and skin with its rough tongue, and feeds on the fish’s body fluids, often killing the fish.
____
16.
Based on the description above, which of the following is the best way to classify the sea lamprey?

	a.
	Producer

	b.
	Predator

	c.
	Prey

	d.
	Decomposer


____
17.
 Based on the description above, what type of relationship does it the sea lamprey have with the fish to which it attaches?

	a.
	Mutualism



	b.
	Parasitism



	c.
	Competition



	d.
	Symbiotic




____
18.
What is a group of organisms of the same species living in the same area at the same time called?

	a.
	A species

	b.
	A population

	c.
	A community

	d.
	An ecosystem


____
19.
Some insects consume nectar from flowering plants and help the plant by spreading pollen.  What type of relationship does this demonstrate?

	a.
	Parasitic

	b.
	Symbiotic

	c.
	Competitive

	d.
	Predator-prey


____
20.
Swans are territorial and each pair needs a large amount of space.  A small lake can only support one nesting pair of swans, but when a man-made lake is enlarged, the swan population increases.  What does this scenario demonstrate?

	a.
	Human activity positively altering an ecosystem 



	b.
	Human activity having no impact on an ecosystem



	c.
	Human activity accidentally destroying an ecosystem



	d.
	Human activity intentionally destroying an ecosystem 



The chart below compares the ability of 4 types of fish to tolerate changes in lake water temperature.
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____
21.
Which of the fish species above would be most likely to survive the impact of global warming?


	a.
	Species 1

	b.
	Species 2

	c.
	Species 3

	d.
	Species 4


____
22.
A student makes the following list of things she sees in her backyard:  squirrels, birds, worms, trees, and flowers.  What does this list describe?

	a.
	A biome 



	b.
	A population



	c.
	An ecosystem




	d.
	A community



____
23.
Coyotes eat rabbits.  Rabbits eat clover.  What would most likely happen if the population of coyotes decreases?

	a.
	The populations of rabbits and clover both decrease.



	b.
	The populations of rabbits and clover both increase.



	c.
	The population of rabbits increases, and the population of clover decreases.


	d.
	The population of rabbits decreases, and the population of clover increases.


____
24.
How can honeybees and lilies be mutually beneficial?

	a.
	Honeybees pollinate many types of flowers, including lilies. 



	b.
	Honeybees get nectar from lilies, and lilies are pollinated by honeybees.



	c.
	Honeybees are used to make honey, and lilies are used to make bouquets.  


	d.
	Honeybees find nectar and lilies find the right amount of sunlight near woods.


____
25.
Of the following, which is the correct sequence for the flow of energy in a food chain?

	a.
	Producers >  consumers >  decomposers

	b.
	Decomposers >  producers > consumers

	c.
	Consumers > decomposer > producers

	d.
	Consumers > producers > decomposers


____
26.
Maple, oak, and pine trees block much of the sunlight in the forest.  Deer, mice, and rabbits drink from the river that flows through the forest and eat the grass that pokes up from the soil.  Which list includes only abiotic components of this ecosystem?

	a.
	Animals, grass, and trees 



	b.
	Deer, mice, and rabbits


	c.
	Maple, oak, and pine trees



	d.
	River, soil, and sunlight


____
27.
What would happen to this ecosystem if there was an overpopulation of deer?

	a.
	The habitat would become polluted.



	b.
	The climate would begin to change

	c.
	There would not be enough plants to support the habitat.

	d.
	There would be too many mice and they would invade houses.


The diagram below represents an aquarium with six labeled items.
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28.
Which item in the diagram above gets it food energy by absorbing light?

	a.
	Fish

	b.
	Snail

	c.
	Plant

	d.
	Thermometer


Essay

29.
Explain why each of the following is important in maintaining the ecosystem in the aquarium in the diagram above.


(a) the plant


(b) the light

30.
There are advantages and disadvantages to using the Internet, rather than books or periodicals, as a tool for researching the affect humans are having on an ecosystem.

Describe one advantage and one disadvantage of using the Internet.

31.
Draw and label a model of a desert ecosystem.  Include at least 2 biotic and 2 abiotic items in your model.
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Which parts of your model represent biotic parts of the ecosystem?

Which parts of your model represent abiotic parts of the ecosystem?

Grade 6 Ecosystems

Answer Section
MULTIPLE CHOICE

1.
ANS:
A
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.21
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Predator
NOT:
MEAP

2.
ANS:
D
PTS:
1
DIF:
1
REF:
6

STA:
L.OL.06.52
LOC:
Energy exchange

TOP:
Ecosystems

KEY:
Light energy

3.
ANS:
B
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.41
LOC:
Ecological Balance

TOP:
Ecosystems

NOT:
MEAP

4.
ANS:
C
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.21
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Beneficial
NOT:
MEAP

5.
ANS:
B
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.31
LOC:
Ecological Balance

TOP:
Ecosystems

KEY:
Biotic
NOT:
RR

6.
ANS:
B
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.23
LOC:
Populations and Communities
TOP:
Ecosystems

KEY:
Food Web
NOT:
MEAP

7.
ANS:
A
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.42
LOC:
Ecological Balance

TOP:
Ecosystems

KEY:
Human impact


NOT:
OS

8.
ANS:
A
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.32
LOC:
Populations and Communities
TOP:
Ecosystems

KEY:
Invasive Species

NOT:
TIMMS

9.
ANS:
D
PTS:
1
DIF:
2
REF:
6

STA:
L.OL.06.52
LOC:
Energy Exchange

TOP:
Ecosystems

KEY:
Decomposition


NOT:
RR

10.
ANS:
D
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.22
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Mutualism
NOT:
MEAP

11.
ANS:
D
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.32
LOC:
Populations and Communities
TOP:
Ecosystems

KEY:
Invasive species

NOT:
OS

12.
ANS:
C
PTS:
1
DIF:
1
REF:
6

STA:
L.OL.06.51
LOC:
Energy Exchange

TOP:
Ecosystems

KEY:
Consumer
NOT:
MEAP

13.
ANS:
D
PTS:
1
DIF:
3
REF:
6

STA:
S.IA.06.14
LOC:
Investigating
TOP:
Ecosystems
KEY:
Patterns in data

NOT:
MEAP

14.
ANS:
B
PTS:
1
DIF:
2
REF:
6

STA:
S.IP.06.14
LOC:
Investigating
TOP:
Ecosystems
KEY:
Graphs

NOT:
Virginia

15.
ANS:
C
PTS:
1
DIF:
2
REF:
6

STA:
S.IA.06.11
LOC:
Investigating 


TOP:
Ecosystems

KEY:
Data patterns


NOT:
Virginia

16.
ANS:
C
PTS:
1
DIF:
2
REF:
6

STA:
L.OL.06.51
LOC:
Energy Exchange

TOP:
Ecosystems

KEY:
Parasite
NOT:
RR

17.
ANS:
B
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.21
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Parasite
NOT:
OS

18.
ANS:
B
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.11
LOC:
Populations and Communities
TOP:
Ecosystem

KEY:
Population
NOT:
RR

19.
ANS:
B
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.21
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Symbiotic
NOT:
MEAP

20.
ANS:
A
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.41
LOC:
Ecological Balance

TOP:
Ecosystems

KEY:
Human impact


NOT:
OS

21.
ANS:
C
PTS:
1
DIF:
2
REF:
36

STA:
S.IA.06.11
LOC:
Investigating
TOP:
Ecosystems
KEY:
Patterns

NOT:
MEAP

22.
ANS:
D
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.11
LOC:
Populations and Communities
TOP:
Ecosystems

KEY:
community
NOT:
OS

23.
ANS:
C
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.23
LOC:
Populations and Communities
TOP:
Ecosystems

KEY:
Food web
NOT:
OS

24.
ANS:
B
PTS:
1
DIF:
2
REF:
6

STA:
L.EC.06.22
LOC:
Patterns in Relationships
TOP:
Ecosystems

KEY:
Mutualism
NOT:
OS

25.
ANS:
A
PTS:
1
DIF:
1
REF:
6

STA:
L.OL.06.52
LOC:
Energy Exchange

TOP:
Ecosystems

KEY:
Food chain
NOT:
MSTA

26.
ANS:
D
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.31
LOC:
Ecological Balance

TOP:
Ecosystems

KEY:
Abiotic
NOT:
OS

27.
ANS:
C
PTS:
1
DIF:
1
REF:
6

STA:
L.EC.06.42
LOC:
Ecological Balance

TOP:
Ecosystems

KEY:
Food web
NOT:
OS

28.
ANS:
C
PTS:
1
DIF:
1
REF:
6

STA:
L.OL.06.51
LOC:
Energy Exchange

TOP:
Ecosystems

KEY:
Producer
NOT:
RR
ESSAY

29.
ANS:


Correct answer:

2 Points:  Includes one of the following roles for plants:  production of oxygen; cleaning water; food for fish; place to hide for fish or other role.  Also includes that the sun is needed for plants to make food, release oxygen and/or photosynthesize.

1 Point:  Plants need light to live and fish need plants to live.

0 Points:  Incorrect reasons (to see, to make attractive)
PTS:
2
DIF:
2
REF:
6
STA:
L.OL.06.52

LOC:
Energy Exchange

TOP:
Ecosystems
KEY:
Producer

NOT:
TIMMS

30.
ANS:


Sample answer:  The Internet is more up to date but the information may be biased because anyone can add information.

2 points:  One appropriate advantage and one appropriate disadvantage.  

1 point: Either one appropriate advantage or one appropriate disadvantage.
PTS:
2
DIF:
3
REF:
6
STA:
S.IA.06.15

LOC:
Investigating
TOP:
Ecosystems
KEY:
Internet
NOT:
MEAP

31.
ANS:


3 points:  Model includes at least 2 correctly labeled and appropriate biotic and abiotic components of a desert ecosystem.

2 point:  Model includes at least 1 biotic and 1 abiotic correctly labeled, appropriate components of an ecosystem.  

1 point:  Some components are either incorrectly labeled or inappropriate for desert ecosystem (not both)
PTS:
3
DIF:
3
REF:
6
STA:
S.RS.06.25

LOC:
Investigating
TOP:
Ecosystems
KEY:
Model
N

Performance Assessment for Grade 6:  Ecosystems

Predator/Prey Relationships

Student Directions:

You are a member of the International Committee for the Protection of Threatened and Endangered Animals (ICPTEA).  A rapid decline in the snowshoe hare population over the past four years has been reported to your committee. The major predator of the snowshoe hare is the lynx.  In order to prevent the continued decline of the hare population, a subcommittee has proposed reducing the lynx population. You have been asked to analyze this proposal and prepare a response for the committee members.

Previous research has shown that the snowshoe hare survives by eating the thin plant material growing in the cold climate of Canada, and that the hare has a high birthrate and is capable of rapid population growth.  The lynx has a much lower birthrate than the hare. 

You have found the following data on the population levels of each species in a given region over a 28 year period (MacLulick, 1937)

	Time Elapsed (years)
	Population of snowshoe hare (thousands)
	Population of lynx 
(hundreds)

	0
	20
	10

	2
	55
	15

	4
	65
	55

	6
	95
	60

	8
	55
	20

	10
	5
	15

	12
	15
	10

	14
	50
	60

	16
	75
	60

	18
	20
	10

	20
	25
	5

	22
	50
	25

	24
	50
	25

	24
	70
	40

	26
	30
	25

	28
	15
	5


To develop a clearer understanding of the research data in the table, plot the data on a line graph. Designate the snowshoe hare populations with a dot (.) and the lynx populations with an (x) on the same graph.

Use your analysis of this research data (chart and graph) to write a response to the members of the subcommittee stating whether you support or reject the proposal to reduce the lynx population.  You response should include:

· A copy of the graph you developed from the research data

· An analysis of the graph data which includes an description of the relationship, if any, between the populations of lynx and snowshoe hares.  Your description should be supported by the data table and your graph.

· An explanation for your decision to reject or support the proposal, based on the data table and graph.
· Support for your position based on your understanding of Population Dynamics and Scientific Inquiry
You will be evaluated on:

a. the quality of the lynx and hare population graph 

b. the analysis of data

c. the explanation of this predator-prey population relationships

d. the reasoning that supports the position.

Teacher Directions and Information:

Depth of Knowledge: (DOK) 4
State Expectations Targeted:

L.EC.06.21
Describe common patterns of relationships between and among populations (predator/prey).

L.EC.06.23
Predict and describe how changes in one population might affect other populations based upon their relationships in the food web.

L.EC.06.32
Identify the factors in an ecosystem that influence changes in population size.

L.EC.06.41
Describe how human beings are part of the ecosystem of the Earth and that human activity can purposefully, or accidentally, alter the balance in ecosystems.

L.EC.06.42
Predict and describe possible consequences of overpopulation of organisms, including humans, (for example: species extinction, resource depletion, climate change, pollution).

S.IP.06.15
Construct charts and graphs from data and observations (such as number of organisms, growth of organisms, temperature).

S.IP.06.16
Identify patterns in data collected from the various ecosystems.

S.IA.06.11
Analyze information from data tables and graphs to answer scientific questions on the patterns of relationships between the communities within ecosystems.

S.RS.06.22
Describe limitations in personal and scientific knowledge regarding the relationships of populations within an ecosystem.

S.RS.06.27
Describe the effect humans and other organisms have on the natural balance of ecosystems.

Background on Lynx and Snowshoe Hare:

The snowshoe hare is an herbivore while the lynx is a carnivore and predator of the hare. Herbivores and carnivores tend to have very different breeding patterns that affect how the total population number change in their respective species. The predator/prey relationship explains that an increase in the snowshoe hare population (prey) leads to an increase in the lynx population (predator). The increase of the hare population (due to the vegetation growing season, not just the absence of lynx) leads to the increase of the lynx population. Eventually the increase in lynx population (along with the annual change in vegetation) impacts the hare's base population number and the hare population falls off. Then the lynx population decreases.

Changes in the hare population are primarily due to BOTH the vegetation growing season and the rate of change in the lynx population.  Changes in the lynx population are primarily due to the rate of change of the hare population. The lynx population change is more dependent on the hare population change than vice versa and is a "lagging indicator" of the hare population. 

Given a constant food supply for the hare, the lynx population eventually would increase to a level where the hare population could not sustain itself. Add to this equation the variability of the vegetation growing season and the changes in lynx population, and you get population decreases and increases (a cycle) over time for hares. Later, the lynx population changes because of the decreasing and increasing number of prey. 

Therefore, decreasing the lynx population without knowing the current hare-lynx population cycle could needlessly disrupt the natural population cycle of both species. Reducing the lynx population would remove one natural limiting factor on the hare population. 

Recommendations/Options/Variations

· This is designed as an individual assessment but it could be done in teams if another measure of individual accountability is added (i.e. interviewing students orally on their understanding.)

· Teacher could scaffold this assessment dividing the task into two parts:  the graph and the report.  Student would first develop their graphs and then edit their graphs based on teacher feedback.  Then they would write their reports based on more accurate graphic representation.

· Students with special needs could receive graph templates that are already labeled rather than blank graph grids.

Adapted from Council of Chief State School Officers (CCSSO)

Predator/Prey Analysis and Report CheckBric (Grade 6):

Student Name ____________________________________________

Overall Score________  

Teacher Name ____________________________________________

	Graph Quality
	
1
2
3
4
	Comments

	Data is plotted clearly and accurately

Scale uses for lynx and hare is appropriate for relative population sizes

Graph is correctly labeled and titled
	

	Data Analysis
	
1
2
3
4
	Comments

	Includes reference to at least two different aspects of the graph 

Refers directly to observed patterns in the relative population sizes
	

	Communication of Position
	
1
2
3
4
	Comments

	Takes an position on the proposal

Defends position by citing information from chart and graph

Describes limitations scientific knowledge relative to the identified problem
Is well developed and uses expected organization and conventions (writing rubric)
	

	Demonstrates Understanding of Population Dynamics
	
1
2
3
4
	Comments

	Supports position with accurate information about common patterns for predator-prey populations

Includes a prediction about how proposed changes in one population might affect other populations 
Explains factors in the ecosystem that may have influenced observed patterns
	


	4 Exemplary
	Work at this level is of exceptional quality.  It is both thorough and accurate.  It exceeds the standard.  It shows a sophisticated application of knowledge and skills.

	3 Proficient
	Work at this level meets the standard.  It is acceptable work that demonstrates application of essential knowledge and skills.  Minor errors or omissions do not detract from the overall quality.

	2 Developing
	Work at this level does not meet the standard.  It shows basic, bateut inconsistent application of knowledge and skills.  Minor errors or omissions detract from the overall quality.  Your work needs further development.

	1 Emerging
	Work at this level shows a partial application of knowledge and skills.  It is superficial (lacks depth), fragmented or incomplete and needs considerable development.  Your work contains errors or omissions.


Oakland Schools SCoPE, Unit 1, Grade 6


